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BACHELOR'S DEGREE PROGRAMME 
(BDP PHILOSOPHY) 

Term-End Examination 

December, 2018 

ELECTIVE COURSE : PHILOSOPHY 

BPY-009 : CONTEMPORARY WESTERN 
PHILOSOPHY 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) 	Answer all five questions. 

(ii) All questions carry equal marks. 

(iii) Answer to Question No. 1 and 2 should be in about 

400 words each. 

1. Define Hermeneutic Tradition. How does Ricoeur 20 
explain language as discourse ? Elaborate. 

OR 

Explain the salient features of Nietzsche's 20 
Philosophy. 

2. Give an account of the Phenomenology of 20 
Edmund Husserl. 

OR 

Discuss the importance of individual and three 20 
stages of existence in Keirkegaard's Philosophy. 
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3. Answer any two of the following questions in 
about 200 words each : 

(a) Describe John Bewey's theory of 10 
instrumentalism. 

(b) How does Freud define the structural model 10 
of personality ? 

(c) Explain the philosophy of logical Atomism. 10 

(d) Explain Husserlian Period of Pure 10 
Phenomenology. 

4. Answer any four of the following Questions in 
about 150 words each : 

(a) Explain intentional facts. 	 5 

(b) Explain the concept of alienated labour. 	5 

(c) What is the task of the structuralist ? 	5 

(d) Summarize Ricoeur's concept of text. 	5 

(e) What do understand by class struggle ? 	5 

(f) Describe the concept of "difference" in 	5 
Derrida. 

5. 	Write short notes on any five of the following in 
about 100 words each : 

(a) Super Ego 	 4 

(b) basein 	 4 

(c) Death of God 	 4 

(d) Communism 	 4 
(e) Fusion of horizons 	 4 
(f) Nihilism 	 4 

(g) Leap of faith 	 4 
(h) Post-Modernism 	 4 
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